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ol XSt SEEN2Y (NotESea H) (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 3,000 3,000 0
01 2L Y] 3,000 3,000 0
OXdt=2tel gRFA0I 2,400
OXdt= 2& MHOolLE &4 04l 600
207 AT OH £ h| 130,000 80,000 50,000
1 HR2EAH 130,000 80,000 50,000
OXot+=0l2Aa BT AIZ 2| 70,000
OXote BEX2=Y 222 29| 60,000
UHDANZD U BIBEY &3 S 331,500 360,210 ~28,710
& 6,000
Al 325,500
401 AIEHIL 201 241,500 270,460 N 28,960
01 Al& bl 240,000 268,960 N 28,960
OXlols BEXx2=2 g2 = 150,000
-ANR=2F 120,000
-JEadegE 30,000
OXdts 4= SA 10,000
-RH0E JAA4=EFR A 10,000
ORXdle SAZEAIAE AX 3 A 20,000
- Xote SAZEFAIAE &X 20,000
OXots HEHZI AX(WHA) XA 60,000
—Xot== HEI X L A 60,000
03 A& 2 0HH| 1,500 1,500 0
OAl& 20| 1,500
402 212t X201 A 90,000 89,750 250
< 6,000
Al 84,000
01 DIZFXI2AIE E X (XM THE ) 90,000 89,750 250
OXdts HX=s A= SAE XA 90,000
= Jiel 75,000
& 6,000
Al 69,000
_sol = 15,000
0dl 51 8l 2,215,806 2,098,176 117,630
801 0l 5l Bl 2,215,806 2,098,176 117,630
1 B0 5l B 2,215,806 2,098,176 117,630
Oulyl gl 2,215,806
HESHAY (ot2=1) 32,504 35,352 N2,848
ol 2dH|(Kot=SZ 3l H) 32,504 35,352 N2,848
ol (XS s ) 32,504 35,352 ~2,848
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